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• Code number given on the right hand side of the question paper should be 
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• Please check that this question paper contains 30 questions. 

• Please write down the Serial Number of the question before 
attempting it. 

• 15 minutes time has been allotted to read this question paper. The question 
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students wi11 read the question paper only and wi11 not write any answer 
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(ii) ffl JTR- "Cff q ~ ~ A, B, C 3fk D f' I "(§VS A # 8 JTR ! f.iFR J/"i'itq; 

CM ~ 3Ni ~, (!JfTS B if 10 !W1 ~· ~ ~ cfi ~ ~ !, ?!JUS C q 

9 JTR ~ ~ ~ ~ rfR JiCfi ~ ffP./T ?!JUS D # S JrR 1 ~ ~ ~ 
r:rfil ~ t · I 

(iii) cit{~ ~-~ (~.siffr ~) ~ ~· ~ I fil;r iff, 2 Jfclff 'FfB 
T!!fi !W1 #, a JiqjT r:rrn T?!fi JfFf -q anr s Jfclff 'FfB ff'l# rft;lf mr if tftnft 

~-~ ~ w t , # m if fcwrtff CliT ~ ~ tt fqq;c;q qjT ~ ~ 

# I 

General Instructions : 

(i) All questions are compulsory. 

(ii) This question paper consists of fonr Sections A, B, C and D. 
Section A contains 8 questions of one mark each, Section B is 
of 10 questions of two marks each, Section C is of .9 questions 
of three marks each and Section D is uf a questions of five 
marks each. 

(iii) There is no ova·all ·choice. However, an internal choice has been 
provided in one question of 2 marks, one question of 3 marks and 
all the three questions of 5 marks weightage. A student has to 
attempt only one of the alt(!rnatives in such questions. 

(iu) Wherever necessal'y, the diagrams drawn should be neat and 
properly labelled. 
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~A 

SECTION A 

Why is banana considered a good example of parthenocarpy ? 

State two different roles of spleen in the human body. 

3. ~ 3l1R lR.\ 1fm if ~ (QfcR.i14C1) ~ ~ C1iT I ~ ~ ~ ~ ~ ~ 

1 

1 

~ ~ m ¥f ~ I ~ ~ fct0tlCh Ctc:") ~-~ ~ ~. q~~lf'"lct I 1 

4. 

A garden pea plant produced axial white flowers. Another of the 
same spec1es produced terminal violet flowers. Identify the dominant 
traits. 

~ qf<ct<Wii c<ll2f('if2Ch Cfi<iqc!{i) ~ BB ~ if flililld%i1 ~ ~ ~ 1%m 
" 

~Cf<ff~~~? 

Why is it desirable to use unleaded petrol m vehicles fitted with 
catalytic converters ? 

5. ~ it ~ !!Mscti ( Qil ~lli) -;:rp:rq:; ~ ~ ~ \3ffiiT ~ ? ~ ~ cnr<f t 

1 

~I 1 

Where is acrosome present in humans ? Write its function. 

6. f.i ~·-lf(111g i1 ~ -;:rrtf ~ : 1 

(a) tr~l4CR9l-~ ~ ~ ~ ~% tll41'"41:1: ~ ~ 'CITffi li~J:iq:@ flil!?Oi'll 

(b) ~ Cb1 irt ~ ~ ~ 1lt ~ 

Write the name of the following : 

(a) The most common species of bees suitable for apiculture 

(b) An improved breed of chicken 
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7. CflT4i~~ it w ~ w it w it ~ ~ ~ -qrffi fl41"1dl lR fctquiT ~ I 
~ it ~ -ij ~ fl41"1til ~ tFIT ~ ~ ~ ~ ? I 

Comment on the similarity between the wing of a cockroach and the 
wing of a bird. What do you infer from the above, with reference to 
evolution ? 

Mention the role of cyanobacteria as a biofertiliser. 

~B 

SECTION B 

9. (a) ~ ctf'"{%11{ (4fck1<il«1£1) qj]" ~ ~ 1t4ifq;ct ~ ~ 

1 

(b) Cffi CFJT ~ ~ ~ f~Rl-1l cit ~ ~ ~ ~ ~ -q ~ ~ t ? 2 

(a) Draw a neat labelled diagram of a nucleosome. 

(b) Mention what enables histones to acquire a positive charge. 

10. 31 jt=l:il ('"it 1fUTIUT ( iful 'R.l ~ 'i1 ) qj]" ~ ffi'll ~ ~ 31ffi'11 ~ l 

State one advantage and one disadvantage of cleistogamy. 

11. (a) ~ -q ~ it ~ ~ qj]" 31R'11 ~ it mor t ? 

2 

(bJ ~ ~an q;1 ::j'q{{i'"<O! ~ cch1t"i1~4) qjT tJR "Cfi{Rl ~ q~_;=rqttof ~ ) 2 

(a) Where do the signals for parturition originate from in humans ? 

(b) Why is it important to feed the newborn babies on colostrum ? 

12. {a) a-~HiRlftJg:;ll ~ it ~ it ~ ~ ~ ~ ~ ~ ~ it ~ 
f-141•1'11 ~ (~) q;) ~ 4<R.11l:ll4 ~ ~ ~ CfU fu<rr ~ t 1 m 
mN ~ ~ -q fll{~l~ct ~ ID"U j'14fJI<i1 CfiT~f-il!l cit m-9;"141•1'11 CfiT~f-il!'i 
it ~ ~ ~ -q B!51tll"11 ~ ~ 1 

(b) ~ ~ ~ n:r fclN cit~ "Rir.m F<if%4"1" ~ ~ ~ ~ ? 2 
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(a) A recombinant vector with a gene of interest inserted within the 

gene of a-galactosidase enzyme, is introduced into a bacterium. 

Explain the method that would help in selection of recombinant 

colonies from non-recombinant ones. 

(b) Why is this method of selection referred to as ''insertional 

inactivation" ? 

13. ~ dGI(RUI zyt ~ tlli$1~1J> fcfi 3tu:S q{'iftMfll fchit ~ ~ I 

Explain brood parasitism with the help of an example. 

14. f;ji•=if<1fuH1 t ~ -q ~ q;-r CfiR1JT ~ : 

(a) ~ <'[tM ~ ~ t ~ Wffi ma- * I 
(b) ¥J ~ ~ ~ 1fPi rcfiJJ 4i qjf 3i r;j ~ q);jj +i muff q;wr ~ ~ 

Give reasons for the following : 

(a) The human testes are located outside the abdominal cavity. 

(b) Some organisms like honey-bees are called parthenogenetic 
animals. 

15. "lltlrT f<fiB 'qlil ~ ~ itiil t, ~ fc;rfuro: I ~ ~<;>qq")ll cnB ~ qjf ~ f<fiB ~ 

2 

2 

~itiilt? 2 

57/1 

~ 

~ -q w; ~ em?~ ct•ffiEflluJm (f<1nhltll~c.\) * ?J ~ ~ t ~ fc;rfuro: 
~ ~ -q ~ .w:Rr-.w:Rr ~ ~ ~ m ~ t ? 

Name the plant source of ganja. How does it affect the body of the 
abuser ? 

OR 

Name the two special types of lymphocytes in humans. How do they 
differ in their roles in immune response ? 
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16. (a) ~ ~ ADA t 3NJq qjT cp.:rr ~ ~ ~ {fS!IT ~ 3fqlq t ~ ~ 
~-m~~~? 

(b) 311 ~ (~) $1 ;;n;r ~ m- ~ "tf ADA~DNA ~ Slll{1Cfl\'1f 

cfi)F.tiCfll.m -q ~1'1ii'1R\1 ~ -q ~@ 41~ fct;7rr ~ t I ~ Cfl8 <m'it ,cfi)F.tiCfll.m 

qil ;;n;r ~ I 2 

(a) Mention the cause and the body system affected by ADA 
deficiency in humans. 

(b) Name the vector used for , transferring ADA-DNA into the 
recipient cells in humans. Name the recipient cells. 

17. ~ ~ ~lfkCfl ~ mrnr ~ WR ~ ~fe<:b ~ cit ~ ~ ~ mffi 
Wf(1 ~ ~ ~ q:if fcfiB ~ wnm;:r fct;7rr ? 2 

How did Ahmed Khan, plastic sacks manufacturer from Bangalore, 
solve the ever-increasing problem of accumulating plastic waste ? 

18. ~ ~ (c:lq ,Cf)l~s) ite.T m -cnB ~CR.lRZ{LJ $1 ;w:r ~ I ~ <D' ~C:IF"iq; 
~ furttrQ: 1 ~ irT ~ &1 Rt4i ('iCf; ~ 4:i~1fh1 mm ~ ? 2 

Name the bacterium that causes typhoid. Mention two diagnostic 
symptoms. How is this disease transmitted to others ? 

~c 

SECTION C 

19. (a) ABO Tifi ~ q:if 3<!J~(ul ~ ~ ~ ~Mh.1?11 om «e;Si"iiM\11 cn1 qflEJl'11~ 
f!4~1~Q I 

(b) f.:n•:rtfC11t.tct ~ ~ 0+>1::i'l21~4) ~ : 
(i) [A i 

(ii) L ~ 

(a) Explain the phenomena of multiple allelism and co-dominance 
taking ABO blood group as an example . 

(b) Wbat is the phenotype of the following : 

(i) JA i 

(ii) L l 
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20. 3ihi'if11Cfl Cf)"]'ffi ~ (A~f'"I~J:i) ~ ~ ~ Sll<pfctC!> CRUT ~ l1ff ~ ~ ~ ~ 
ftrRfrT ~ ? fl4~1$l{ I 3 

How does industrial melanism support Darwin's theory of Natural 
Selection ? Explain. 

21. (a) 4~r~l<ll ~ c:rtft9cf m 3fu: m lfrf-~ ~ ~ 'iif1R Chl ~llkF'll ~ if ~ 
~ B ~ cnl4m4 Ch1 cp:rr ~ ~ ? 

(b) 1fl'liT 'ij ~ Cfllzf*lll &iT ~ B $'Rlli1<'1 cfit ~ ~ ~ fl'l~I~Q 

(a) What is the programme called that is involved in improving 
success rate of production of desired hybrid and herd size of 
cattle ? 

(b) Explain the method used for carrying this programme for cows. 

22. f'"lk1f<1f{9(1 -q ~ ~ q)f q;rzf fl4~1$C( : 

(a) ~-~ (<=nlfc14l\1$~1) 

Cb) m~ 

(c) ~1m: 

Explain the function of each of the following ; 

(a) Coleorhiza 

(b) Umbilical cord 

(c) Germ pores 

23. 41~')141~ ~ ~Qi:f'?H (PCR) ctr ~ ~ "[Q fcfim ~ CJie'il4 crif.:J ~ C61 >rcr¢r 

3 

3 

fctifl' >fCfi11: fc8n llfRff ~ ? 3 

How is the amplification of a- gene sample of interest carried out 
using Polymerase Chain Reaction (PCR) ? 

24. f%'m ~~f'"ld 11fGT J;nf!f?HJH rn CfilZ ~ 'CR l=Jl1Cf wffi B 4~Rlll ~ CfiT ~-~ 

57/1 

~~~~.~~ 3 

Trace the life-cycle of malarial parasite m the human body when 
bitten by an infected female Anopheles. 
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25. DNA cfit ~ j;lsft1ofl ~ iti ~ ~ cfit ~ ~ I 

3ltfCfT 

E. coli -q ~ ~ ~ mm: fi<""''"i1?4Cfi ~ ~ ~ ~ -sa:rr ~ ~ ? 

List the salient features of double helix structure of DNA. 

OR 

How are the structural genes activated in the lac operon in E. coli ? 

2s. ~ ~ 'E'41!i!n)l1 ~ 3il~lliCfi m-m ~ a:m ~ 'E'41!i!n)l1 iti ~ ~ ~ 

3 

m I ~ ffi;, 3G:I~{ofi q;r fhWlfll ~ W Cfi?f-1 cnT 5141fOIC1 ~ I 3 

Alien species are highly invasive and are a threat to indigenous 
species. Substantiate this statement with any three examples. 

27. (a) il&11$s1111$:; $rt4iTJfR21 it ::m=r ~ tR ~ iti -qlt:ff CfiT "lffi l5fu m-ffi ~ I 

w 1fB"'"i" qj) ";f ~ ~ ~ ~ ~ '1fR emir {0 1""11 R1 q;r ~ ~ aW 
fP"i~l~ll_ tiT I 

(b) ~ ~ ~ .q f4im ""11~2\s-~ ~ qj) ft ~ iti ~ ~@lil~ ~ 
~ <:fiB ~ (~) q;r ""iTl1 ~ I 3 

(a) Tobacco plants are damaged severely when infested with 

Meloidegyne incognitia. N arne and explain the strategy that is 

adopted to stop this infestation. 

(b) N arne the vector used for introducing the nematode specific gene 
in tobacco plant. 

1§lJ"! D 

SECTION D 

28. (a) am- ~ (;?.IT ~ q;r 1Z$-~ 3i!J~(OI ~ 'fP4$ll~l{ f% "f-1 GAT it 
~-~ Cb1 m ~ )fqif{ ~ ~ 1 

(b) ~-~ iti ~ q;r ~ ~ ~ ft4~1~l{ 

57/1 8 

5 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



(a) *i4ct(QqUs<:1 (~20)%JJ:H) ~ am q)J mhlqi{O[ ~ mor ~ ? ~ 'q'Rq 

~~~~~~? 

(b) ~ ~ mu-~ ~ \fuR DDT q;J tq_a:rrq¢:r ~ ~ WIT t 
fll"l$1~l{ I ~ ~ 'B ~ Cl11 ~ ~ ~ SNI~ct ~ t ? 

(a) Taking one example each of habitat loss and fragmentation, 
explain how are the two responsible for biodiversity loss. 

(b) Explain two different ways of biodiversity conservation. 

OR 

(a) \Vhat depletes ozone in the stratosphere ? How does this affect 
human life? 

(b) Explain biomagnification of DDT in an aquatic food chain. How 
does it affect the bird population ? 

29. ~ R:Q: ~ ~ "a" "B "i" nq; ~ ~ ~ 1:fRCf 1ITGT ~ iFf crrffi ais1~1~ ~3# CliT 
~~~~: 

(a) a-{1 ~ M q,l ~ ~ ~ q;ltffi ?;!Rl44 ~ lFIT ~ om 3lJ ~ 
(N(Zfc~) ~ qjT ~ ~ ~ ~ 61rFfT 51lilfcm ~ ~ 1 

(b) ~ t1k4Ji qjJ ~ Jid:('llcil CbJ1f ~ I ~ ~ ~ ~ ~ 
>r41fc1H ~ ~ ? ~ ~ 31Rcf14 cRf t ? 

(c) ud•• ~ "e" ~3# ~ ~ 3tcn: ~ ? 

(d) ~INllt=t ~ qjJ ~ ~ '11 ~ifCflct ~ ~ I 

3liJCn' 

(a) 3!11i1~h?l (~Nill1fl44) "ij ~ 'CITR ~ cit ® ~ <FIT ~ ~ t ) 
~ ~ q))f~lq)[a{j q,l =t{~~U((1( (~) ~ I 

(b) 1%-m ~ 3ffi: ~urci'itfill l(Cflafl'Jlqsfi ~ ~ L.S. q;J ~ 'illiifcflct ~ ~ I 

5 
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The following is the illustration of the sequence of ovarian events 
11a" to "i" in a human female : 

·•oOOJ? @fb0 
•b c d e f g h 1 

(a) Identify the figure that illustrates corpus luleum and name the 
pituitary hormone that influences its formation. 

{b) Specify the endocrine function of corpus luteum. How doeo it 
influence the uterus '! Wby is it essential ? 

{c) 'What is the difference between "d'~ and "e" ? 

(d) Draw a neat labelled sketch of Graafian follicle. 

OR 

(a) Why is fertilisation in an angiosperm referred to as double 
fertilisation ? Mention the ploidy of the cells involved. 

(h) Draw a ncEJ.t labelled sketch of L.S" of an endospennous monocot 
seed. 

30. ~ ~ J:R1 if!'<')q;)il'l>il ;pim tr( 1'1;1( 'J1Z 'f'IPT 'f.T qof:r ~ I :nli!; li!U 

57/1 

~'J1Z~ij;j~~l 5 

3l"l"!' 

(a) 'lf'W" d c!$ q 4 ij OlJ11 d ('!I il; t'f ,£) T('b ~ (to) il; <"'! ij ~ t('!i 

Q<Mi"'\ ~ ~Y>IIIQ I ni ~ 'fi1 F 2 wt\ ffii ij;j ~ 01lJTilA <YI!' 

~I 

(b) ni m il; """"" it ~ "'T ~ ~ <h11•tfo f.nfil '#!-<¢! it t. 
Afult( I 

(c) 
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Describe Frederick Griffith's experiment on Streptococcus pneumoniae. 
Discuss the conclusion he arrived at. 

OR 

(a) Explain a monohybrid cross taking seed coat colour as a trait in 

Pisum sativum. Work out the cross upto F 2 generation. 

(b) State the laws of inheritance that can be derived from such a cross. 

(cl How is the phenotypic ratio ofF2 generat1on different in a dihybrid 

cross ? 
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